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1 |4B/NEHET ch 4 1018 - 2 H= 1079.00 ELREE A 55
2 |EERHAT H/A 2071 - 5 H= 227.00 ELREE kA 5
3 |EERHA H/A 2077 - 7 H= 15.00 ELREE s 5
4 |LERHE H/A 2077 - 9 H= 36.00 ELREE s 5
5 |(EERHT H/A 2079 - 3 I 280.00 EtXREE kA 15
6 |LERHA H/A 2080 - 6 H= 26.00 ELRaEE s 5
7 | EERHAT H/A 2084 - 5 P 87.00 ELRaEE s 5
8 |EXIETHER ZING 4290 - 2 I 37.00 HEER BRERGIE| 95
9 |EXIETHER ZING 4291 - 2 I 67.00 HEER BRERGIE| 95
10 |2 XIETHER ZING 4293 - 2 I 243.00 HEER BRERGIE| 95
11 |EXETHER ZING 4327 - 3 I 105.00 HEER BRERGIE| 95
12 |EEETA ) e 1184 - 8 I 12.00 HEER E R 25
13 |E BT L2 N 328 - 5 H= 142.00 HEER E R 25
14 |E BT EZ N 328 - 6 H= 1050.00 HEER E R 25
15 |E BT L2 N 328 - 8 H= 1027.00 HEER E R 25
16 |{R/EHHET B 162 - 2 H= 374.00 HEER E R 25
17 [{RIEHHET B 215 - 2 I 15.00 HEER E R 25
18 |[{RIEHHET B 216 - 2 H= 23.00 HEER E R 25
19 |#SHET REE 293 - 3 P 23.00 HEE E R 25
20 |=FHT RatdHE 164 - 4 I 1666.00 HEER E R 25
21 |=FHT atkhE 166 - 1 I 503.00 HEER E R 25
22 |=FHT RadHE 169 - 2 I 1539.00 HEER E R 25
23 |=FHT fRadHE 192 - 5 I 858.00 HEER E R 25
24 |=FHT HadrE 193 - 15 I 142.00 HEER E R 25
25 |HEETTZ By 856 - 3 H= 351.00 HEER E R 25
26 |HEETTZ By 856 - 4 H= 1038.00 HEER E R 25
27 |{RIEHHE] B 230 - 3 H= 791.00 HEER E R 25
28 |{RIEHHE] FAI SR BE 766 - 2 H= 227.00 HEER E R 25
29 |{RIEHHE] FAI SR BE 767 - 2 H= 136.00 HEER E R 25
30 |{RiEHHET FAISRBE 755 - 2 H= 18.00 HEER E R 25
31 |[{RIEHHE] =5 1704 - 3 I 421.00 HEER E R 25
32 |{RIEHET =5 1704 - 4 I 1.92 HEER E R 25
33 |{RIEHHET 2333 - 1 P 511.00 HEER E R 25
34 |HSHT h/\IEEE 268 - 5 I 220.00 HEER E R 25
35 |HEHT h/\IE#E 268 - 6 I 108.00 HEER E R 25
36 |=FHT RatdHE 194 - 4 I 1124.00 HEER E R 25
37 | RF9ET EHIR 1310 - 2 I 58.00 HEER E R 25
38 |FTERHE il 1597 - 2 I 103.00 HEER E R 25
39 | TERHE il 1597 - 3 I 593.00 HEER E R 25
40 | TR RHET R 1600 - 4 I 495.00 HEER E R 25
M | FTERHET i 1600 - 5 I 46.00 HEER E R 25
42 |TERHET R 1604 - 3 I 507.00 HEER E R 25
43 | TR RHET R 1605 - 2 I 10.00 HEER E R 25
44 | FHETiHh FHAE 333 - 2 H= 531.00 HEER E R 25
45 |ZFHETith FHAE 334 - 2 H= 314.00 HEER E R 25
46 |5 FETih ARRH 394 - 2 H= 580.00 HEER E R 25
47 |SFHETith ARH 395 - 2 H= 207.00 HEER E R 25
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48 | FHETith AR H 407 - 4 A 775.00 HER
49 | AT ARH 408 - 3 A 523.00 HER
50 |35 FHHETH AR H 409 - 4 A 1481.00 HER
51 | & FHETH ARH 412 - 1 A 780.00 HER
52 | & FHETH t & H 426 - 3 pui 891.00 HER
53 | & FHETH t & H 429 - 3 A 822.00 HER
54 | & FHHETH #EFEH 451 - 9 A 607.00 HER
55 | & FHHETH #EFEH 453 - 6 A 23.00 HER
56 |5 FHHETH #EFEH 455 A 323.00 HER
57 |5 HHETXH KHTE 102 - 3 pui 333.00 HER
58 |&HHETXH KHTE 103 - 2 pui 734.00 HER
59 |&HHETXH KHTE 104 - 3 I 60.00 HER
60 |&HHETXH KHTE 106 - 2 1 81.00 HER
61 |5 FHETH AR H 392 - 3 A 261.00 HER
62 |5 FHETH AR H 393 - 1 A 457.00 HER
63 |5 FHETH t & H 428 - 2 A 349.00 HER
64 |5 FHHETH #EFEH 452 - 1 A 811.00 HER
65 |5 FHHETH #EFEH 452 - 2 A 0.64 HER
66 |5 FHHETH #EFEH 452 - 4 A 400.00 HER
67 |&FHHETH #EFEH 457 A 534.00 HER
68 |&HHETXH KHTE 38 - 1 pui 253.00 HER
69 |EXIBTKA IR 1591 - 2 A 78.00 = BT
70 = HET i o 1539 - 3 23] 29.00 =10
71 | E=EHE] X2 2194 - 9 I 81.00 = BT
72 [hE=EHET X8 2208 - 2 23] 787.00 =10

29440.56




